L I8 B =4
D EIENAE / 5 &R

S EIEMEREN - BAAHNBE

EH 22110.

P i

DEIEME .
EWFEHEFHERSE.

2P

AE
< W, RE
« T 1.4305

EEHT
< W, B/
o TR 1.4305, R

Fig
o BER(PAG) , BB , THEN
* Thermoplast PA 6, red, dull

TR HE, 5 EEMETUTEEHBA.

Hix

BuekETRIEEMERNERE (EH
22120.).

1B{F

BEER#NIH | #6903 —MEORAE (LAt
BIETRIZRE ) o

ESER

ERBM

TR BB H

IRIF AN B R

BEEFm

< XEBE, AT HERENSEEME , BB
- EUWE, EAT2EREMND EEME

- BEEIREN  ERTOEEME

=
ds
|-'I I | Q s
I P
= | :
- WS |
LI sy L
ey 1)
411 If
1| Y 17|
= : f dsiii
N = lock nut
w | d 22120.0114 — .0120 (steel)
- = 22120.0514 — .0520 (stainless steel)
w d,
iTEER
R+ WS wENE" @ ﬁ
d4 d, I, d; l4 I3 Iy Fq F, min max.
-0,02 min ~ ~
-0,05
[mm] [mm] [N] [°C] [g]
with knob, black, ¥
4 M 8x1 4 16 35,0 16 5 10 45 12,0 -30 80 12 22110.0123
4 M 8x1 6 16 35,0 16 5 10 4,0 12,5 -30 80 12 22110.0124
5 M10 x 1 5 19 40,0 18 6 12 5,0 15,0 -30 80 20 22110.0126
5 M10 x 1 8 19 40,0 18 6 12 5,0 18,0 -30 80 20 22110.0127
6 M12x 1,5 6 23 48,0 22 6 14 6,5 19,0 -30 80 31 22110.0129
6 M12x 1,5 9 23 48,0 22 6 14 6,0 25,0 -30 80 33 22110.0130
8 M16 x 1,5 8 28 58,0 26 8 17 8,5 26,0 -30 80 65 22110.0132
Vit EiE
VHALDER S

& 7E: 15.1.2024


http://halder.com/cn/22110.0123
http://halder.com/cn/22110.0124
http://halder.com/cn/22110.0126
http://halder.com/cn/22110.0127
http://halder.com/cn/22110.0129
http://halder.com/cn/22110.0130
http://halder.com/cn/22110.0132

L I8 B =4

DEIEMAE / 2 EIRe
R+ ws wERE" @ ﬁ ms
d4 d, I, d; l4 I3 Iy Fq F, min max.
-0,02 min = =
-0,05
[mm] [mm] [N] [°C] [¢]]

8 M16 x 1,5 12 28 58,0 26 8 17 8,5 28,0 -30 80 68 22110.0133
10 M16 x 1,5 12 28 58,0 26 8 17 9,5 38,0 -30 80 69 22110.0135
12 M20 x 1,5 15 33 67,0 33 10 22 11,5 40,0 -30 80 125 22110.0136
16 M24 x 2 20 33 78,5 38 12 27 13,0 54,0 -30 80 219 22110.0137

with knob, black, TN

4 M 8x1 4 16 35,0 16 5 10 45 12,0 -30 80 12 22110.0223

4 M 8x1 6 16 35,0 16 5 10 4,0 12,5 -30 80 12 22110.0224

5 M10 x 1 5 19 40,0 18 6 12 5,0 15,0 -30 80 20 22110.0226

5 M10 x 1 8 19 40,0 18 6 12 5,0 18,0 -30 80 20 22110.0227

6 M12x 1,5 6 23 48,0 22 6 14 6,5 19,0 -30 80 31 22110.0229

6 M12x 1,5 9 23 48,0 22 6 14 6,0 25,0 -30 80 33 22110.0230

8 M16 x 1,5 8 28 58,0 26 8 17 8,5 26,0 -30 80 65 22110.0232

8 M16 x 1,5 12 28 58,0 26 8 17 8,5 28,0 -30 80 68 22110.0233
10 M16 x 1,5 12 28 58,0 26 8 17 9,5 38,0 -30 80 69 22110.0235
12 M20 x 1,5 15 33 67,0 33 10 22 11,5 40,0 -30 80 125 22110.0236
16 M24 x 2 20 33 78,5 38 12 27 13,0 54,0 -30 80 219 22110.0237

with knob, red, i

4 M 8x1 4 16 35,0 16 5 10 4,5 12,0 -30 80 11 22110.2123

4 M 8x1 6 16 35,0 16 5 10 4,0 12,5 -30 80 13 22110.2124

5 M10 x 1 5 19 40,0 18 6 12 5,0 15,0 -30 80 21 22110.2126

5 M10 x 1 8 19 40,0 18 6 12 5,0 18,0 -30 80 21 22110.2127

6 M12x 1,5 6 23 48,0 22 6 14 6,5 19,0 -30 80 33 22110.2129

6 M12x 1,5 9 23 48,0 22 6 14 6,0 25,0 -30 80 32 22110.2130

8 M16 x 1,5 8 28 58,0 26 8 17 8,5 26,0 -30 80 65 22110.2132

8 M16 x 1,5 12 28 58,0 26 8 17 8,5 28,0 -30 80 69 22110.2133
10 M16 x 1,5 12 28 58,0 26 8 17 9,5 38,0 -30 80 70 22110.2135
12 M20 x 1,5 15 33 71,5 33 10 22 11,5 40,0 -30 80 127 22110.2136
16 M24 x 2 20 33 78,5 38 12 27 13,0 54,0 -30 80 200 22110.2137

with knob, red, T555R

4 M 8x1 4 16 35,0 16 5 10 4,5 12,0 -30 80 11 22110.2223

4 M 8x1 6 16 35,0 16 5 10 4,0 12,5 -30 80 13 22110.2224

5 M10 x 1 5 19 40,0 18 6 12 5,0 15,0 -30 80 21 22110.2226

5 M10 x 1 8 19 40,0 18 6 12 5,0 18,0 -30 80 21 22110.2227

6 M12x 1,5 6 23 48,0 22 6 14 6,5 19,0 -30 80 33 22110.2229

6 M12x 1,5 9 23 48,0 22 6 14 6,0 25,0 -30 80 32 22110.2230

8 M16 x 1,5 8 28 58,0 26 8 17 8,5 26,0 -30 80 65 22110.2232

8 M16 x 1,5 12 28 58,0 26 8 17 8,5 28,0 -30 80 69 22110.2233
10 M16 x 1,5 12 28 58,0 26 8 17 9,5 38,0 -30 80 70 22110.2235
12 M20 x 1,5 15 33 71,5 33 10 22 11,5 40,0 -30 80 127 22110.2236
16 M24 x 2 20 33 78,5 38 12 27 13,0 54,0 -30 80 200 22110.2237

" gt P

TH 23
EEHALDER FIZTE: 15.1.2024


http://halder.com/cn/22110.0133
http://halder.com/cn/22110.0135
http://halder.com/cn/22110.0136
http://halder.com/cn/22110.0137
http://halder.com/cn/22110.0223
http://halder.com/cn/22110.0224
http://halder.com/cn/22110.0226
http://halder.com/cn/22110.0227
http://halder.com/cn/22110.0229
http://halder.com/cn/22110.0230
http://halder.com/cn/22110.0232
http://halder.com/cn/22110.0233
http://halder.com/cn/22110.0235
http://halder.com/cn/22110.0236
http://halder.com/cn/22110.0237
http://halder.com/cn/22110.2123
http://halder.com/cn/22110.2124
http://halder.com/cn/22110.2126
http://halder.com/cn/22110.2127
http://halder.com/cn/22110.2129
http://halder.com/cn/22110.2130
http://halder.com/cn/22110.2132
http://halder.com/cn/22110.2133
http://halder.com/cn/22110.2135
http://halder.com/cn/22110.2136
http://halder.com/cn/22110.2137
http://halder.com/cn/22110.2223
http://halder.com/cn/22110.2224
http://halder.com/cn/22110.2226
http://halder.com/cn/22110.2227
http://halder.com/cn/22110.2229
http://halder.com/cn/22110.2230
http://halder.com/cn/22110.2232
http://halder.com/cn/22110.2233
http://halder.com/cn/22110.2235
http://halder.com/cn/22110.2236
http://halder.com/cn/22110.2237

L I8 B =4

DEIEMAE / 2 EIRe
Bt
R+ WRFRF il ms
d;
[mm] [mm] [g]
Lock nuts ISO 8675 (DIN 439), i
M 8x1 13 2,7 22120.0114
M10 x 1 16 52 22120.0115
M12x1,5 18 7,5 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120
M24 x 2 36 58,0 22120.0122
Lock nuts ISO 8675 (DIN 439), 7454
M 8x1 13 2,7 22120.0514
M10 x 1 16 52 22120.0515
M12x1,5 18 7.5 22120.0516
M16 x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520
M24 x 2 36 58,0 22120.0522

J

For detailed compliance information please select the desired article number.

TH3M3

EEHALDER & 7E: 15.1.2024


http://halder.com/cn/22120.0114
http://halder.com/cn/22120.0115
http://halder.com/cn/22120.0116
http://halder.com/cn/22120.0118
http://halder.com/cn/22120.0120
http://halder.com/cn/22120.0122
http://halder.com/cn/22120.0514
http://halder.com/cn/22120.0515
http://halder.com/cn/22120.0516
http://halder.com/cn/22120.0518
http://halder.com/cn/22120.0520
http://halder.com/cn/22120.0522

